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<) &E51F23% : 1_image_circle_cross.py

1. ... # HE - B

2.  import numpy as np

3. import matplotlib.pyplot as plt # BERNE

4. circlel=np.array([[1,1,1], # BEEE

5. [1,0,1],

6. [1,1,1]1])

7. plt.subplot(1,2,1) # IBERRAELE
8. plt.imshow(circlel) # 1&lE

95

10. crossl=np.array([[1,0,1], # X X[E

11. [0,1,0],

12. [1,0,1]])

13. plt.subplot(1,2,2) # BEREAELE
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14. plt.imshow(crossl) #
15. plt.show() # EA/N
) FUTHER
-0.5 -0.5
0.0 0.0
0.5 4 0.5
1.5 4 15
2.0 1 2.0
2.5 T T T 2.5
0 1 2 0 1 2
# €2 +Q=B

@ 1 _image circle cross.mp4

/14.2 B TE s

QAT 45 ] B R ) [ s A B MILP FOREBRELIR 2 SE el B mIE— T &
P2 AR E S 0 A = 2 R e - it B2 —FEE R 4 [FFR
B > BB E4.6,3.1,1.5,02] —#EE R - ALRE S 3x3 By Rl fE [[1,1,1],
[1,0,1L[1,1,1]] SE BR By ZHE & B - WA EE— i 2 A] DLiE i flatten () 5K
reshape([9]) PR UEHIR AL —REFORH1,1,1,1,0,1,1, 1,17 » 7717 S S [ #6213k 52
[1,0,1,0,1,0,1,0,1] -

<) EEIF2 : 2_image_circle_cross1D.py

1. ... # 18R B
2o import numpy as np

3. import matplotlib.pyplot as plt # ERNE
4. circlel=np.array([[1,1,1], #

5' [1,@,1],

6. [1,1,11D
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7.  plt.subplot(2,2,1) # IEERRAAL L
8. plt.imshow(circll) #
9.
10. circle2=circlel.flatten() # 2DEL 1D ik 1
11. circle2=circlel.reshape([9]) # 2DEL 1D 5% 2
12. print(circle2) #
13. plt.subplot(2,2,2) # EERRAALT
14. plt.plot(circle2, 'ob") #
15.
16. crossl=np.array([[1,0,1], # Y Y&
17. [0,1,0],
18. [1,0,1]])
19. plt.subplot(1,2,2) # EEREAEAL
20. plt.imshow(crossl) #
2L o
22. cross2=crossl.reshape([9]) # 2D E 1D
23. print(cross2) # B
24. plt.subplot(2,2,4) # EBEREMEAT
25. plt.plot(cross2, 'xb') # 2B
26.
27. plt.show() # R
) FUTHRR
=03 1.0 4 L) o o 0 @
0.0 0.8 |
0.5 06
154 0.4
20 0.2 1
25— 0.0 L .
0 1 4 6 8
—0.5 1.0 1 3 3 X X
0.0 0.8 1
0.5 06 4
1.0
3% 0.4 1
20 0.2 1
25 = 0.0 q , X . X , X .
0 1 2 4 6 8

@ 2_image_circle_cross1D.mp4
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<) 8EIF2X : 3_image_circle_cross_MLP.py

1. ... # import B HHE

2. circlel=np.array([[1,1,1], # BEE

3. [1,0,1],

4. [1,1,111)

5. circle2=circlel.flatten() # 2DE 1D A% 1

6.

7. crossl=np.array([[1,0,1], # Y YE

8. [0,1,0],

9. [1,0,1]11)

10. cross2=crossl.reshape([9]) # 2D ¥ 1D

11. X = np.array([circle2,cross2]) # EEXER

12. Y = np.array([0,1]) # ERYEN

13. category=2 # B 2%E Label BEY
14. dim=9 # 75 9 (& Feature £ X

15. Y2=tf.keras.utils.to_categorical(Y, num_classes=(category)) # EiF

17. model = tf.keras.models.Sequential() # MMAIEFE

18. model.add(tf.keras.layers.Dense(units=10, # JlA 10 [EHATT

19. activation=tf.nn.relu, # WAEEE A activation="relu’

20. input_dim= dim )) # S—FFNEER

21. model.add(tf.keras.layers.Dense(units=10, # fIA 10 [EMHATT

22. activation=tf.nn.relu)) # AEEE AL activation="relu’

23. model.add(tf.keras.layers.Dense(units= # 3 ESEELTHEN
category,activation=tf.nn.softmax )) # EEE AL activation="softmax'

24. model.compile(optimizer="adam',

25, loss=tf.keras.losses.categorical_crossentropy,

26. metrics=["accuracy'])

27. model.fit(X, Y2, # ETHIER

28. epochs=100) # REIBRAREL

29. # A

30. score = model.evaluate(x_test, y test, batch _size=128) # :tEIFHEXR

31. print("score:",score) #

14-5
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33. predict = model.predict(x_test) # T8

34. print("Ans:",predict) # B

35. print("Ans:",np.argmax(predict[8]),np.argmax(predict[1])) # FERIZZR
36. predict2 = model.predict_classes(X) # NEEAIER

37. print("predict_classes:",predict2) #

38. print("y _test",Y) # BRI ER

) FUTHER
Epoch 100/100

2/2 [ ] - @s 419us/sample - loss: ©.1967 - acc: 1.0000
2/2 [ ] - ©s 1@ms/sample - loss: ©.1930 - acc: 1.0000
score: [0.19297751784324646, 1.0]

Ans: 0 1

predict_classes: [0 1]

y_test [0 1]

@ 3 image circle cross MLP.py

14.4 - A MNIST

FEE & Tensorflow.keras.datasets HHHY MNIST R =B 2R BUIE K
mE o L HE R Gk - FEERKIE R MNIST HfE - H'E 7k
B http://yann.lecun.com/exdb/mnist/ » #H 6 EEETF 0~9 WFEEHFER -
MRESA e — & -

& C Y @ NotSecure | yann.lecun.com/exdb/mnist/ * @6 0F & | @ :

THE MNIST DATABASE

of handwritten digits

Yann L eCun, Courant Institute, NYU
Corinna Cortes, Google Labs, New York
Christopher J.C. Burges, Microsoft Research, Redmond

The MNIST database of handwritten digits, available from this page, has a training set of 60,000 examples, and a test set of
10,000 examples. It is a subset of a larger set available from NIST. The digits have been size-normalized and centered in a
fixed-size image.

Itis a good database for people who want to try learning techniques and pattern recognition methods on real-world data while
spending minimal efforts on preprocessing and formatting.

Four files are available on this site:

train-images-idx3-ubyte.gz: training set images (9912422 bytes)
train-labels-idxl-ubyte.gz: training set labels (28881 bytes)
£10k-images-idx3-ubyte.gz: test set images (1648877 bytes)
tl0k-labels-idxl-ubyte.gz: test set labels (4542 bytes)

14-4 MNIST #4%
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T] L& Tensorflow.keras.datasets [ &AM FH MNIST FEEFE -

import tensorflow as tf

(x_train, y_train), (x_test, y_test) = tf.keras.datasets.mnist.load_data()

AR SR R

x_train : 60000 SEAYFIBRETE - FIlBREIR AR L -
y_train : 60000 SEHYFIFRELHE - FIRREIR AR E % -
x_test : 10000 SEAYHIGAEE - HIEABERAVRAEL -
y_test : 10000 SEAVHIGEIE - HFEBEIRIIRRERE -

EANRTHE BRI —4% - & MNIST EE BT ek © —RES
FEEFRIE A —E H R E AR - BT E 7R Ay E 3k
Fx train - fEESEFIRAVIESEEEY R "y train y - B DL NAVFER - BRARA0(A]
B MNIST FEE R N - A6 H B RAE R R Eh -

<) BHIFET : 4_mnist_load_display.py
1. import tensorflow as tf # tensorflow KT E

2. # BAER (FERITH #A train £ test ERE)
3. (x_train, y_train), (x_test, y test) = tf.keras.datasets.mnist.load _data()
4. print('x_train = ' + str(x_train.shape)) # x_train pY[EZ|R/N
5. print('y_train = ' + str(y_train.shape)) # y_train f9[&%IK/)\
<€) MITHER
x_train = (60000, 28, 28)
y_train = (60000, )

£ MNIST T#E{ &K load_data() » Wi EEEF - FLERRY x_train £y 60000
ERFIFREEE X R T —ER R/ NR(28,28) » EHREIP K/ 28 ()
x 28 (&) - F—{EE 2 —E KPRV S - #EZE 0~255 Z [ - 2 FEml
F—EE RIS E R - MEE R ER 7 th B — R E R URE - (HEEUHH 10000
EHHEBIE -

@ 4 mnist_load.mp4
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ALEY MNIST 5—%49 Image BRIAS

MNIST #EAIE R & - BRE A EFE 28 X28 (AETh: - Ky 1 #
B AL MNIST B JEHYE R AIRE - 55 EE DL TR KEERS 0 EEH - |
BENH g —(E B R IR B -

<) I3 EHIFRIN © 5_mnist_displayNumbers.py
1. ... # R E—(EE5 - B8

2. def printMatrixE(a): #t BEE—BANE—HER

3 rows = a.shape[@] #t EEARBE

4 cols = a.shape[1] # NBEREE

5 for i in range(@,rows): # RS INE—REN

6. str1=""

7 for j in range(@,cols): # RER—ATNEHEN

8 strl=stri+("%3.0f " % a[i, j]) # BNSEEER

9. print(strl) # WHESNEN

10. print("")

11.

12. printMatrixE(x_train[@]) # BFF 0 ENE (RB)

13. print('y_train[@] = ' + str(y_train[@])) # TFEFE 0 EMNEZE

P
) FUTHRER

] Q 0 ) ) ] /] ] Q 0 /] ) ] /] ] Q 0 /] ) ] /] ] Q 0 /] ) ] [/}
] ‘] [} ] ) [} 5] ] ‘] [} ;] ) [} 5] ] ‘] [} ;] ) [} 5] ] ‘] [} ;] ) [} [}
[} '] /] [} ] /] [} [} '] /] [} ] /] [} [} '] /] [} ] /] [} [} '] /] [} ] /] [’]
] '] /] [} ] /] [} ] '] /] [} ] /] [} ] '] /] [} ] /] [} ] '] /] [} ] /] /]
] Q [} ] ) [} /] ] Q [} /] ) [} /] ] Q [} /] ) [} /] ] Q Q /] ) [} ]
] a [} o ) [} ;] ] a 0 ;] ) 3 18 18 18 126 136 175 26 166 255 247 127 ;] ) [} [}
[} '] /] [} ] /] [} @ 30 36 94 154 170 253 253 253 253 253 225 172 253 242 195 64 [} ] /] /]
] '] /] [} ] /] @ 49 238 253 253 253 253 253 253 253 253 251 93 82 82 56 39 /] 0 ] /] /]
] ‘] 0 '] ) [} @ 18 219 253 253 253 253 253 198 182 247 241 ) [} ] ] ‘] 0 /] ) [} ]
] ‘] [} o ) [} ;] @ 80 156 187 253 253 205 11 @ 43 154 ) [} ;] ] ‘] [} ;] ) [} [}
] '] /] [} ] /] [} ] 9 14 1 154 253 9@ [} '] /] [} ] /] [} ] '] /] [} ] /] /]
[} '] /] 9 ] /] [} [} '] /] @ 139 253 190 2 '] /] [} ] /] [} [} '] /] [} ] /] 0
] ‘] [} ] ] [} ] ] ‘] [} @ 11 190 253 7@ ‘] ] ] ] [} ] ] ‘] [} ] ] [} ]
[’} '] /] [} '] /] [} [’} '] /] [} @ 35 241 225 160 108 1 '] /] [} [’} '] /] [} '] /] /]
[} /] [/] [} ] /] [} [} /] [/] [} ] @ 81 248 253 253 119 25 /] [} [} /] [/] [} ] /] [/]
[} '] /] 9 ] /] [} [} '] /] [} ] /] @ 45 186 253 253 150 27 [} [} '] /] [} ] /] 4]
] a Q '] ) [} 5] ] a Q 5] ) [} 5] 9..16. .93 252 253 187 ;] ] a Q 5] ) [} [}
[’} '] /] [} '] /] [} [’} '] /] [} '] /] [} [’} '] @ 249 253 249 64 [’} '] /] [} '] /] /]
] '] /] ] ] /] [} ] '] /] [} ] /] @ 46 130 183 253 253 207 2 ] '] /] [} ] /] /]
[} '] /] [} ] '] [} [} '] /] [} @ 39 148 229 253 253 253 250 182 [} [} '] /] [} ] '] /]
] ‘] [} ] ) [} ;] ] [’} @ 24 114 221 253 253 253 253 201 78 [} ;] ] ‘] [} ;] ) [} [}
[} '] /] [} '] /] [} @ 23 66 213 253 253 253 253 198 81 2 '] /] [} [} '] /] [} '] /] [’]
] '] /] 9 ] @ 18 171 219 253 253 253 253 195 8@ 9 /] [} ] /] [} ] '] /] [} ] /] /]
] Q 0 @ 55 172 226 253 253 253 253 244 133 11 ) Q 0 o ) ] /] ] Q 0 o ) ] [/}
] ‘] [} @ 136 253 253 253 212 135 132 16 [} ;] ] ‘] [} ;] ) [} ;] ] ‘] [} ;] ) [} [}
[} '] /] [’} ] /] [’} [’} '] /] [} ] /] [’} [} '] /] [’} ] /] [’} [} '] /] [’} ] /] [’]
] '] /] [} ] /] [} ] '] /] [} ] /] [} ] '] /] [} ] /] [} ] '] /] [} ] /] /]
] Q [} ) ) [} /] ] Q [} /] ) [} /] ] Q [} /] ) [} /] ] Q [} /] ) [} [}

y_train[@] =5

14-5 MNIST £ 0 EWEHABTNEER S
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TERZ A AE A EEE
v EEy train[0]ks 5 ¢
v S x_train[0]F 28 X 28 {EEEAIE RN E
BT e g B Pl B S — RS2 i R/ INE 3 X3 R K 28 X 28 1Y
BL o MEHEE R 2 FEEH B 255 FREA -

@ 5 _mnist_displayNumbers.py

W ER-7E MNIST AE

Ry T BB E AR AR Y N 7 - [RIBE6E ] matplotlib.pyplot pRERE
FBEERANE B GEER K -

<) D EEHFIFRIN : 6_mnist_load_display.py

1. import matplotlib.pyplot as plt # B ERERNE
2. ... # [F E— B - HEE
3. num=0 # BFZE num ZME (AR)
4. plt.title('x_train[%d] Label: %d' % (num, y train[num])) # 25 num EMEER
5. plt.imshow(x_train[num], cmap=plt.get_cmap('gray_r')) # FAIEHNIEEEZXE
6. plt.show() # BRE A

<€) MITHER

x_train[0] Label: 5

20

25

0 5 10 15 20 25

A €D P Q= x=15.0909 y=8.01515  [182]

14-6 MNIST 2 0 EFBEREFEH
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BITAENZ® - SRR R ERE A B str U RIS T ARER
x=16 y=8 [182] » HUREZHMIMLEMHEIRER - FEHE— T - EEPERA
Ry B ERIE T ELSELT 255 0 BEIKERIE 2 FE 100~200 HYEF - HHEL AT R
MNIST FJE RN E R 255 FIEE@ 0 FER - FRETEGH S IKRET
BHE -

@ 6_mnist_load_display.mp4

ATRY =r=REH

WRAE I FE 2GRS > n] DAE B L N 23 AT 16 FEER - EK
R LLE O BGEREE — T - &R FIRTE S FE AR R R g #&R NI ERHE
F 1 HBE=R - HEPRR T A LER - S EE R LEME R AR
g > T e ZE B B 2 R ACHIR AV IR AL - SE AR BYEA L n] AR AT A AU AT RETE 22
A S AERIRAE R - AEE 2P rh -t & S 3R Ak Y e ek S B
BT - N HEEMETEY) - SR REGRE S - i EF—RIE R A
HEPERINE -

o) D EHIFE : 7_mnist_load_display_more.py

1. ... # FE—E#5 - B

2 for num in range(@,16): # BZE num ZNE (AR )

3 plt.subplot(6,6,num+l) # EEYIE

4. plt.title('[%d] Label: %d' % (num, y train[num])) # 25 num ENEZER
5 plt.imshow(x_train[num], cmap=plt.get_cmap('gray_r')) # ZEA~

6. plt.show() # BB A



BEHE I HHE

) BITHER

[0] Label: 5 [1] Label: 0 [2] Label: 4 [3] Label: 1

0 0 0 0
10 ] 10 10 E 10
20 20 ‘ 20 20
52 [4T1babeticd )0 [5libabetio2 52 [61ibabetiol )0 [7hbabetio3
10 10 10 10 i
20 20 ' 20 20 ',
52 [8Tibabetiol )0 [9libabetiod 5.0 [10]¢.abeb 3 5.0 [11]dabeb5
10 10 r 10 - 10 f
20 20 3 20 - 20
02 [12]4.abels 3 02 [13]d.abely 6 02 [14]4abelp1 02 [15]4-abely 7
10 10 é 10 I 10 y
20 20 20 20

o 10 20 o 10 20 o 10 20 o 10 20

4 € +a=nm

14-7 MNIST giE 16 EFENB R EH

@ 7 mnist_load_display more.mp4

TEAG SRR A R BR L FEESS - MREREE - B E RS
WeEEZE - FlanE 14-7 FrI 4 F1 5 -
(P | D HEes EREEnEEEg AN REE
BB, - LROER  EEATIRORE  HETED
 BENEEREIIREN LR o |

/14.8 el eca o ==1rts

BATEGAEZ ATRIEET P S T AA B E PR - T AR A0 (TR B E AR A E 5 2
MRIBAFRZERIHEY - 0 MLP SESTETCRIRF EUE S - IRIRE = AR 22 2
M o [FIBEHE - B S 2 — AR RS R A 1T AR -
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7 DU AR = o BRAMAF E— (B 28 X 28 WYFEERHE A > 5t
WY 784 B —HEE R (28 xX28=784) - A{EFHEIAIE LD E R SRy ik
— R ERER—IRE R - (R AR FE SR - HEP B AEED -

<) R EEHIFED © 8_mnist_display_all.py

1. ... # A E— (&6 - B8
2. def display mult_flat(start, stop,label):
3. images = x_train[start].reshape([1,28+*28]) # i&[E A&k —#EfE7
4, for i in range(start+1,stop): # 8=
5. label2=int(y_train[i]) # SZENER
6. if label2==label: # FEBREREMERNEE
7. images = np.concatenate((images, x_train[i].reshape([1,28%28]))) # j0L
8. plt.imshow(images, cmap=plt.get_cmap('gray _r')) # BRI EER
9. plt.show() # BERE R
10.
11. display mult_flat(o,2000,7) # 7£0-2000 2 HHEBRR 7
12. display mult flat(e,2000,1) # 7£ 0-2000 ) HHEBER1
) FUTHER
0 - = u: = - = 3
lzz %ﬁﬁffgii} BRE
] 53 %%1?%;1? ”iaui
S EgBEHIRNE 1333
100 o B / + 3
158 §%§%§£§3é13§§§§
. = E 2 A
150 - g% 58 IEERRERESS Y
£ 8 : g .;i FEECe T
_ = o T E 3 i
FEEEEREERIIIRRA00EE
0 100 200 300 400 500 600 700
14-8 ZENFE 7 2RAVAREE
0 IREEEERE FEEEH
50 $ 3 2?32 ;Ei
R EEE t EEE L
T 2 x k) P iEFF
100 EEEE EREE
i3 i I I
150 i ERD
1111 1117119414
200 1 331333 , IENEEEES
0 100 200 300 400 500 600 700

14-9 ZEMFE 1 2IMAVARE
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ERS R R 2 - HE R (AR B XA G R - FeeiE
LA R ch i MBI RA LR - st pEE B [E Fr s S FH s B A - 535 5k 2 DUSE
& MLP J7 2k #eaik i B9 H i R 3 -

@ 8 mnist_display all.mp4

AIXY EfzEusimng MLP HI5RE

FEANZ BT MLP 95348 » MINST FEE S thEEnEgkEE — T @ 51
BHIRRE E AT o (FIH e 55 E =S B TR

ster1 #§ B F AL MLP 94 E
STEP2 KFHEHEELL

sTEPd One-hot Encoding B iR 1S

HEE IR MLP BYREIE

Al E—EfATER - AR ZEEREIAS MLP A] DIFFR 28 X 28 JKFEME F - BT
DARE S reshape() /7 A F 1B Frisifapk 784 R E{E (28 X 28 fEEL) -

o) E3DEHIFZEIN : 9_mnist_onthotending1.py

print('x_train before reshape:', x_train.shape) # #H (60000, 28, 28)

dim=img_rows*img_cols*1 # 784=28x28

x_train = x_train.reshape(x_train.shape[@], dim) # SN reshape

x_test = x_test.reshape(x_test.shape[@], dim)

print('x_train after reshape:', x_train.shape) # HH (60000, 784)
O BITIER

x_train before reshape: (60000, 28, 28)
x_train after reshape: (60000, 784)

14-13
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RFEME SRR

FEFRHRS R EUE R B - R E SR R EE R ) SE RS
E R DUVE AN IERENE © (2R EUE R R ? s B A BT HE 0
F 1 ZHEBFRE - SERRAYTE R A] DATE T BRI A Rl oo IR R B = A — BRI
ARz o DAHIGR AR Fr #af12eaR - FE R Fr BTy - & R 8 Fr o o2 A
BEA—20 M 0 ] 1 ZHERFRE - SRS o R E L - 1 H.
FEE BB HE (Lt AT LLG#E Learning rate S2EWCRAHEAFAIET - A L -
HREFEER PR ARENR/ME - R HIER 0 A1 1 BIR] - R IK
P& B Fr#iE U 0~255 0 AT DAERCEERR 255 mhReEmk " R mE , -

<) B3 EEHIFZIN - 10_mnist_onthotending2.py

print('x_train before div 255:',x_train[@][180:195]) # ERIFRIAVEHDER
# EEEAER

x_train = x_train.astype('float32") # B AT REE
x_test = x_test.astype('float32')
x_train /= 255 # FEELRE

x_test /= 255
print('x_train before div 255 ', x_train[0][180:195]) # RIBEMIHER

) BITHER
x_train before div 255: [17@ 253 253 253 253 253 225 172 253 242 195

64 @ 0 0 ]
x_train before div 255: [0.666 ©.992 ©.992 ©.992 0.992 ©.992 0.882
0.674 0.992 0.949 0.764 0.250 0. 0. 0.]

One-hot Encoding 85415
BT AR e B 1ok FH Y B AR E BRI PR
print('y_train shape:', y_train.shape) # #E (60000, )
WK EBEER/T 10 HFIFRERARIER SRS = ¢

print(y_train[:10]). #E#HE [S5041921314]
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PEE S One-hot Encoding BRENGRAS - P AT LU DU #y pg 202K
BE R
tf.keras.utils.to_categorical(y, num_classes=None)

SRR E R — R (8 BRI -

<) Z3DEHIFEN : 11_mnist_onthotending3.py

category=10
y_train2 = tf.keras.utils.to_categorical(y_train, category) # #Eifa/&EBEZRIE
y_test2 = tf.keras.utils.to_categorical(y_test, category)

print("y_train2 to_categorical shape=",y train2.shape) # 1 (60000, 10)
print(y_train2[:10]) # B\EE 10 £
O BTIER

y_train shape: (60000,)
[59041921314]
y_train2 to_categorical shape= (60000, 10)

[[e. . ©. 0. 0. 1. 0. 0. 0. 0.]
[1. 0. 0. 0. 0. 0. 0. 0. 0. 0.]
[0 B O Bl B B B B ]
[6. 1. 0. 0. @. 0. 0. 0. 0. 0.]
[6. 0. 0. 0. @. 0. 0. 0. 0. 1.]
[0. 0. 1, 0. 0. 0. 0. 0. 0. 0.]
[@. 1. 0. 8. 0. 0. 0. 0. 0. 0.]
[ @ B L B B B e B 0]
(0. 1. 0. 0. 0. 0. 0. 0. 0. 9.]
[6. 0. 0. 0. 1. 0. 0. 8. 0. 0.]]

@ 9_mnist_onthotending.mp4

AIRTY =/ MLP SRpsE R F

fEZATEE T - BRACRIE G A 4 R EE - 0 MNIST EH LR E
FBAE 784 (ERFEIE (2828 {HE:) R HMHFIREEIE R - B ke -
FUBRFFEIE R 4 (#5835 784 {# -
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117 e A B2 52 5t P T S S S 50 i A [ JE2 S RO e [ B - R 62 1)
Bl R Y A/ NE 3 X3 g2 9 (I EUE 2 S 2 - 15 MNIST HYE HIE 28
X 28 thgtie 9 (AR EE 10 HERE - HAl T EACRHEERZ 0~1 TE=Z 0~255
HAEAEE -

{5 P 2 BT i B2 78 0 /9 2% g EI#E MILP f5 200 5 5 5 (B T # ik o #68 7 Jl Fl F
B HghEE - EEEEFE (sequential model format )

model = tf.keras.models.Sequential() t E5EIEFRE

BN ER THEARE ) AR - [EATE dim=784 EME A ERIR/)

model.add(tf.keras.layers.Dense(. 4 EEEL TERE, ecTEYE
units=10, # A 1o BT
# EEMEIRLA relu
#

BENET IR EIE 784 @

activation=tf.nn.relu,

input_dim=dim))

Ay TR

model.add(tf.keras.layers.Dense(units=10, # JOA 1o {EMEL&IT
activation=tf.nn.relu)) # TERHEBRIE relu

Al o

kernel_initializer='normal', # {£F normal distribution HREDMHIIBELEIESE

THEHIRE ) AR

model.compile(optimizer=tf.keras.optimizers.Adam(1r=0.001), # {£f Adam % &) 0.001
loss=tf.keras.losses.categorical_crossentropy, # BAXRGEARBHRD BRI
metrics=['accuracy']) # BAEREIIFANABEEIHNEEHRS

RS BJEAIME A input_dim=784 BIFEUHE 784 =28 X28X 1 » [fifx
e — T HIME A/ Ny 10 AR TT - EFER 10 X -

A] PLZEE DL e Uk A R (E B AR AT AL SN

model. summary ()



<€) AITHER
Layer (type) Output Shape Param #
dense (Dense)  (Nome, 10) 7850
dense_1 (Dense) (None, 10) 110
dense_2 (Dense) (None, 18) 11@

B RE

Total params: 8,070
Trainable params: 8,070
Non-trainable params: @

14-10 model.summary()BIEE

FH AT DUE S ERE S — S5 =g - 5351 > Param BOKGEF AR BEAE #

T EHELIFHEE - Param Z2EHIETEITEMT ¢
7850 = (784 X 10) + 10

110 = (10X 10) + 10

B TR FY 5 2 A] L2 St R ] A I Ao s U ST (o P R0 5l S et A B R PRI B e 2R

FIIERER -

) B EEHIFET : 12_mnist_ MLP.py

=

W ooNOUVT A WN

# BEE

# FlRRE

history=model.fit(x_train, y_train2, # ETIENRMEER
batch_size=1000, # REENIBRINES
epochs=200, # REBRAIVRE - LR B ERIRE
verbose=1) # JREFERTIRE

# B

score = model.evaluate(x_test, y_test2, batch_size=128) # FTERIFE R

print("score:",score) # LA R

predict = model.predict(x_test) # BNEE—EERIEER

print("Ans:",np.argmax(predict[0]),np.argmax(predict[1]),

np.argmax(predict[2]),np.argmax(predict[3])) # EXVEFEBZZE 1
predict2 = model.predict classes(x_test[:10] ) # ETEAEZR 2

print("predict_classes:",predict2[:10] ) # #EHTEAIZZE 2
print("y_test",y test[:]) # BECHERE

14-17
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) PUTHR
10000/1000 [ ] - @s 17us/sampe - loss: 0.2274 - acc: 0.9390
score: [0.22742516186237335, 0.939]
Ans: 7210

predict_classes: [7
1

041446 9]
y test [72104 59

21
495 9]

2265259 10 mnist MLP.mp4

RIREY =:: — ARafryEAZ S Fashion-MNIST

1F Tensorflow.keras.datasets HYE(IE [ H53EH — ] MNIST BB EREIH
LIEYE Fr#98 Fashion-MNIST @ ‘B Zalandoe N FIHEIGEES » HPbEHE
& 60,000 7AW [E AT 10,000 5RAIBRE S o S (E R &S —{E 28 X 28 JKFE
[ - HE S #EE 0 2] 255  ME 7k 10 EEEFIRREEZ - 252 -

0 T-shirt / top : T I/ 5%
1 Trouser : T

2 Pullover : EIH#Z

3 Dress : 8k

4 Coat : YpE&

5 Sandal @ J5&E

6 Shirt : #i#Z

7 Sneaker : JEBEE

8 Bag : HI/HLET

9 Ankle boot : F#{

BT AR 0 #3538 Tensorflow.keras.datasets FYEIEEE A AVE R E B 0 I
HE®SMMHE G - FEERKIEE MNIST #iE - HE A5k

https://github.com/zalandoresearch/fashion-mnist °



& github.

B RE

oA @@
GitHub is home to over 40 million developers working together to host and
review code, manage projects, and build software together.
A MNIST-like fashion product database. Benchmark .~ http://fashion-mnist.s3-website.eu-ce...
mnist  deep-leaming  benchmark g dataset P fashion  fashion-mnist  gan  zalando
convolutional-neural-networks
€D 204 commits ¥ 1branch [ 0 packages T O releases 42 7 contributors s MIT
———

Branch: master +

EZ rvoligraf Update READMEmd /-

B benchmark

i data

| docfimg

B static

. utils

W visualization
[El .catwatch.yaml
[E .dockerignore
Bl gitignore

El .zappryaml

[El CONTRIBUTING.md
[El Dockerfile

[E] LICENSE

[El MAINTAINERS

New pull request

Find file Clone or download ~

Latest commit c624d4s on Aug 10, 2019

first commit 3years ago
fixes #44 | removed duplicate samples from the data set 3 years ago
update image 2 years ago
add highlight to column header 3 years ago
simplified reader 3 years ago
first commit 3 years ago
add zappr and catwatch 3 years ago
first commit 3 years ago
update readme 3 years ago
add zappr and catwatch 3 years ago
first commit 3 years ago
first commit 3 years ago
first commit 3 years ago
Update MAINTAINERS 2 years ago

=]
=)

14-11 Fashion-MNIST &%} 28

3% Tensorflow.keras.datasets | &k A1 F§ Fashion-MNIST FE &} -

import tensorflow as tf

(x_train, y_train), (x_test, y_test) = tf.keras.datasets.mnist.load_data()

TEH IR ST B -
v x_train : 60000 ZERYFIBREDE - FIBREIS AR -
v y_train : 60000 FEHYFIFRETE - FIRREIRHIEEERE S -
v
v

x_test : 10000 EHYHIEAEIE - WS BIRAR & -
y_test 1 10000 FEAVHIEAHE - WEABIRAMEREZ -

<) EEHIFZZX : 13_fashion_mnist_load_display.py

il import tensorflow as tf # tensorflow FIE
2. # HARMHER (EERHTRL  BA train 8 test ERIE)

14-19
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F142

3. (x_train, y train), (x_test, y test) = tf.keras.datasets.fashion_mnist.load data()
4. print('x_train = ' + str(x_train.shape)) # x_train fYfEFIK/)N
5. print('y_train = ' + str(y_train.shape)) # y_train f9[&E%I K/
6. print('x_test = ' + str(x_test.shape)) # x_test AYMEZIA/N
7. print('y_test = ' + str(y_test.shape)) # y test BYREZIFK/IN
) FUTHRER
x_train = (60000, 28, 28)
y_train = (60000, )
Xx_test = (10000, 28, 28)
y_test = (10000, )

R A& Rl Fashion MNIST R # &Kl load data() » G FEEH - HE
Y x_train By 60000 FEHJFIFREGE X FE > M —FERA/NE (28,28) @ EiE
EE ANy 28 () X28 (15) » F—{E%: U2 —{EIKPERI RS - #iELZ 0~255
Z [ st B —(E B A K FE &R} TR AYES 02 — B A & R AR -
HEE A 10000 FERYHIGLEEE - IREFEFR fashion_mnist AIF-EE R mnist
P —Fk -

AREGEIH fashion_mnist B—24Y Image BRIAS

[FfR - KR E DL T YRR A B IREEFE fashion_mnist HYZS 0 &
¥ BRI E B IRRE 8 -

<) B3 EEHIFZIN  14_fashion_mnist_displayNumer.py

1. ... # [A C— (86 - B

2. def printMatrixE(a): t BEE—BHNE—HER
3 rows = a.shape[0] # WEBRRE

4. cols = a.shape[1] # WEBREE

5. for i in range(@,rows): # RES—INE—HER
6 stri=""

7 for j in range(®@,cols): # RER—{THEHER
8. strl=strl+("%3.0f " % a[i, j]) # EEREN

9. print(strl) # WHEEINER

10. print("")

11.

12. printMatrixE(x_train[@]) #t BESE 0 EMNE (AR)

13. print('y_train[@] = ' + str(y_train[@])) # EFSE 0 ENZE
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) BITHER
06 0 06 0 06 © © 0 © 0 ©0 0o 0 0 0 6 o e 0 0 0 0 0 0 0 0 0 o0
6 06 0 ¢ 0 0 © 0 © @ 0 o © ©0 0 0 o e o0 0 0 0 0 o0 0 0 o o
6 0 0 0 0 0 © © © 0 ©0 0o © ©0 @0 0 o e 0 ©0 0 0 o o 0 0 0 o
6 o © 0 06 © © © © 0 © o 1 © 0 13 73 @ ©0 1 4 0 © © 0 1 1 ©
o 0 0 @ @ © e © © @ 0 o 3 0 36136127 62 54 @0 0 0 1 3 4 0 @ 3
06 0 0 @0 @0 0 © 0 © @ 0 0 6 0102204176134144123 23 @0 © © 0 12 10 ©
6 © © 0 0 © @ © © 0 © o © 0155236207 178 107 156 161 109 64 23 77 130 72 15
6 0 0 0 06 0 @ 0 © 0 0 1 0 69207223218 216 216 163 127 121 122 146 141 88 172 66
6 0 0 @ @ @ @ 0 © 1 1 1 0200 232232 233229 223 223 215 213 164 127 123 196 229 0
06 0 © 0 0 0 © 0 © 0 0 0 0183225216 223 228 235 227 224 222 224 221 223 245 173 0
6 0 © 0 @0 © @ © © 0 © 0 0193228 218 213 198 180 212 210 211 213 223 220 243 202 ©
6 0 0 0 0 o © © © 1 3 0 12219 220 212 218 192 169 227 208 218 224 212 226 197 209 52
06 0 0 @ @0 0 @ 0 0 @0 6 0 99244 222 220 218 203 198 221 215 213 222 220 245 119 167 56
0 0 0 0 0 0 © 0 © 4 0 0 55236228 230 228 240 232 213 218 223 234 217 217 209 92 0
0 0 1 4 6 7 2 © © 0 © 0237226217 223 222 219 222 221 216 223 229 215 218 255 77 O
0 3 0 @ @ 0 @ 0 @ 62145204 228 207 213 221 218 208 211 218 224 223 219 215 224 244 159 0
0 0 © 0 18 44 82 107 189 228 220 222 217 226 200 205 211 230 224 234 176 188 250 248 233 238 215 0
0 57 187 208 224 221 224 208 204 214 208 209 200 159 245 193 206 223 255 255 221 234 221 211 220 232 246 0
3202 228 224 221 211 211 214 205 205 205 220 240 80 150 255 229 221 188 154 191 210 204 209 222 228 225 ©
98 233 198 210 222 229 229 234 249 220 194 215 217 241 65 73 106 117 168 219 221 215 217 223 223 224 229 29
75 204 212 204 193 205 211 225 216 185 197 206 198 213 240 195 227 245 239 223 218 212 209 222 220 221 230 67

48 203 183 194 213 197

o
)
a
[
©
S
[
©
=
[
©
N
N
S
N

214 219 221 220 236 225 216 199 206 186 181 177 172 181 205 206 115

0 122 219 193 179 171 183 196 204 210 213 207 211 210 200 196 194 191 195 191 198 192 176 156 167 177 218 92
0 0 74189 212 191 175 172 175 181 185 188 189 183 193 198 204 209 210 210 211 188 188 194 192 216 170 0
2 0 © 0 66200 222 237 239 242 246 243 244 221 220 193 191 179 182 182 181 176 166 168 99 58 @ 0
0 0 0 0 0 0 © 40 61 44 72 41 35 ©0 0 6 © e 0 © 0 0 o0 © 0 0 0 o
6 0 © @ @ 0 @ 0 © @ 0 o 0 ©0 @0 @ o e 0 0 0 0 o0 0 0 0 0 o
6 0 0 @ 0 0 © 0 © @ 0 o © ©0 0 0 o e o 0 0 0 o0 o0 0 0 o o

y_train[@] = 9

14-12 Fashion_MNIST £ 0 EHERABNEZEELE 9

@ 11_fashion _mnist_load.mp4

KTEFPY E7:1L%T Fashion MNIST FREHEH!

Ry TR E R IR R S R YN 2 - [B15 5 A matplotlib.pyplot P& =0HEF
Fashion MNIST HREFE RN EREFH G EEEHR - ZEI TR - 2
HHETHE 36 ZERE R
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<) D EHIFEN : 15_fashion_mnist_display_images.py

1. ... # A E—(E&6) - B8
2. for num in range(0,36): # &H 36 ZNE
3 plt.subplot(6,6,num+l) # SHEYE
4. plt.title('[%d] Label: %d' % (num, y_train[num])) # 25 num EFNER
5 plt.imshow(x_train[num], cmap=plt.get_cmap('gray_r')) # ZE/x
6. plt.show() # BERE R
) PUTHRER

i 0

14-13 Fashion MNIST R EGFE R FiH 36 ZEHETE
AT AR 2% Rg B e EE e Bl st el PLE G N AERER x=16
y=8 [182] » FRURZE M B HEERER - EEEE—T » EEPERRE
BEPYER ST ERSENT 255 - RIRSCHEIREZ A R %2 1 #1571E 100~200 JKFEEH -

@ 12 _fashion_mnist_display images.mp4



